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Exam Style Questions

Similar Shapes: Sides  CorbettmOiths
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Ensure you have: Pencil, pen, ruler, protractor, pair of compasses and eraser

You may use tracing paper if needed
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Guidance

1. Read each question carefully before you begin answering it.
2. Don't spend too long on one question.

3. Attempt every question.

4. Check your answers seem right.

5. Always show your workings .

4 _
Revision for this topic

www.corbettmaths.com/contents

Video 292
Video 294




Not drawn accurately
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A D E H

Rectangles ABCD and EFGH are similar.
AB = 3cm
BC =7cm
EF = 9cm

Work out the length of FG.
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o Not drawn E
Yo scale

B 16cm 17cm
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Triangles ABC and DEF are similar.

AB=4 : ]
AC:SS:nr:] S‘w}@ Eu&éﬁf = ié 24zl
DE = 16cm

EF =17cm.

(a) Work out the length of DF.

XY
?«O ......... cm
(2)
(b) Work out the length of BC.
I
26 om




Trapezium S and trapezium T are similar.

Not drawn accurately

X

2.2cm 4 5cm

1.5¢m/ 5 \ T
Y

9.6cm
Seok {nj&r = 451523

(a) Find the size of x,

a-d %3
gé ....... cm
(2)
(b) Find the size of y.
3.6 -3 :
3‘2‘ ...... cm




Shown below are two similar triangles.

Not drawn
accurately

2bcm

20cm

6cm X
S{ﬂﬁ@ gmg"‘ - 20:8: &5

(a) Find the size of x.

RREN

(b) Find the size of y.

A5« S

......... LQ.....om

(2)




Not drawn accurately

F G
8cm

A D E H

B 9cm C

Rectangles ABCD and EFGH are similar.

AB =5cm
BC =9cm
EF = 8cm

Work out the length of FG.

S fudir = 835 =14

§x (-4 L4t
........ /?’q’cm

(2)




The diagram shows three similar rectangles.

Not drawn accurately

X

D 30cm l
Y 1

4cm 5 12cm S

¥ 3

(a) Work out the value of x,

L0 12§

(b) Work out the value of y.

0 - 3

—
15cm

X126

........ 3PS o
(2)
1o,




Not drawn accurately

8cm
4c m\
D E
Triangle ABC is similar to triangle ADE.
AB = 8cm
ES:E‘;Q | S ol Fajﬁi!@rg S Wy

Work out the length of DE.

bx IS =4




Not drawn accurately

D 18cm E
6.25¢cm
scm
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6em
A

Triangle ABC'is similar to triangle ADE.

g7 ¢
BC = 8cm /
CE =6.25cm -- \5 ‘
DE = 18cm o |
4
| - J = - = P
(a) Work out the length of DB. Scde FJ@F (g4 *4

Ab - 5}1 2-29 =135

15.5-6 = 353
......... l Smcm
| (3)
(b) Work out the length of AC. |
225y : \wa"f
_gqlﬁ‘\ » §.d%
j lj-s, s g ........ cm




10.5cm

ACE and BCD are straight lines. S ok {Jar =10-9 -6
DE is parallel to AB. _ ' 15
(a) Work out the size of CE.
S # - s
§-#s
........................ cm
(3)
(b) Work out the size of AB.
145 175
............ g vererennCM




MNO and LNP are straight lines,
LM and OP are parallel.

Not drawn accurately

O

(a) Explain why triangles LMN and NOP are similar
Give clear reasons for each statement you make.

e s Loub.. (vetels gpstel...............
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(b) Work out the length of MO.
Seals Mm‘ s s fc as
No = S%a-'{? [2-9
Mg -~ S+ (2.5
....... lz'ﬁécm




Not drawn to scale H

E

30 15¢m L

D F G

g8cm
e

DEF and GHI are similar right angled triangles.
DE =15¢cm
DF = 8cm

Gl = 28cm C ol Ma p Q.ﬁ:

Work out the length of HI
e = et +IF
EFt - FS‘ + gl

epts 194
gF = 1?
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